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Note : This question paper consists of Three Sections - A, B and C.

SECTION - A

I.  Very Short Answer Type Questions. 10x2=20
(1) Answer all the questions.
(ii) Each question carries two marks.
1. Iff: R\(0} - R is defined by f{x) = x> ~=5=, then show that f(x) + f[l) - 0.
(X X

-

2. Determine whether the following functiolii;is even or odd :
flx)=a*—a~*+sinx

3. 'pr.=[' 0],ﬁndA2.
0 1

4. Find the rank of the following matrix :

1 -1
2
0

—_— W D

0
2
5. a=2+5j+k and b =4i + mj + nk are collinear vectors, then find m and n.

6. Find the vector equation of the line passing through the point 2i +3j + k and

parallel to the vector 4; — 2} +3k. ai
-

- - O - = -
7. For what values of A, the vectors { — \j $2k and 8i + 6 — k are at right angles ?

2
8. Find a sine function whose period is 3
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10.

11.

12.

13.

14,

18.

16.

17.

W
Express (V3 cos25° + sin25°) ¢ 4 s%e of an angle.
2

If sinhx=3, then show that x = log, (3 + V10).

SECTION - B

Short Answer Type Questions. 5x4=20
() Answer any five questions. |
(i) Each question carries four marks.

If A= [_01 ﬂ then find AA’. Do A and A' commute with respect to multiplication

~J
- - o
a, b, ¢ are non-coplanar vectors. CProve that the following four points are

s’

coplanar : 1®]

of matrices.

-a +4b -3¢, 3a + 2b - 5¢, ~3a + 8b - 5¢, ~3a + 2b + ¢

Find a vector of magnitude 3 and perpendicular to both the vectors.

b=2i-2j+kandc = 2i +2j + 3k

If 3sinf+4cosh=5, then find the value of 4 sinb -3 cos#.
Show that :
c052 (lJ + COSQ (23) + cosg(ﬂ] + ::052 (g—ﬂ] = 2
10 ) 5 10
Show that, for any 6eR, -3
. 58 30 . e .
4sin = cos r) cos30 = sind — snnZBE,g sin48 + sin76.
o
%
Prove that :
2
Tan é + Tan E + Tan C _ bc+ca+ab-s
2 2 2 A
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18.

19,

20.

21.

22.

23.

24,

SECTION - C
Y]
Q

Long Answer Type Questions. . - 5x7=35

N
(i Answer any five questions.

(ii) Each question carries seven marks.

If f(x)=x2 and g(x)=|«, find the following functions.
(i) f+g (i) f-g (iii} fg
(iv) 2f v f? (vi) f+3

Solve 3x+4y+5z= 18, 2x— y+82=13 and Sx-2y+72=20 by using ‘Matrix Inversion
Method’. .

Solve x—y+3z=5, 4x+2y—-2=0, —x+3y+2z=5 by using Cramer’s Rule.

Show that the line joining the pair_gf points 63 — 4b + 4E, —4¢ and the line
joining the pair of points —a — 2b ~Jc, a + 2b — Sc intersect at the point _4¢
when a, b, ¢ are non-coplanar vcctag

O

[

If a=7-2j+3kb=2i+8k and c =1+ j +k, then compute 3 x b, a x ¢

and 3 x (b + ¢). Verify whether the cross product is distributive over vector

addition.

If A, B, C are angles of a triangle, then prove that :

sinzﬂ + sian - sinEE =]- 2(:-:>s§r:n:-;?—sir1E
2 2
Show that :

r+r, +r1—r2=4RcosB
-0 0 o -
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